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| I Fill up the blanks ‘ ' (10 x1=10)
I (Cos@ +iSinB)'=.........c...ooiiiii,
. Thed4™term of 3, 12,48, 08 ... .0 00oeeeo
. If A be any square matrix (A+A’)is .............. and (A-A’)iS..coveeenennn. ..
- The degree measure corresponding to % radian is.......................

. Period of the fimction Cos @ iS................ioveeen..

.......................
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. A matrix A is orthogonal if...................
10. Integral Cosec? x is......... FOUST

II Write answers on any FIVE ql-'lestions : : (5 x 2=10)
+ 1. Find for what values of x, the function ° - 9x*+ 24x + 7is -
a) Increasing b) Decreasing C) Statiopary -

2. Prove the following: 1) If (x) dx= I f(x) dx i) jf(x)dr = _[ f(x) dx+ f f(x) dx
a “h ‘ a a . c

1 2 -1
Find the inverse of| -1 1 2
2 -1 1

(U3}

4. Solve by Cramer’s rule: x+y+z=7, 2x+3y+2z=17 4x+9y +2=37.

12 -3 3 -1 2 41 2
556 a= |s o 2 B= 4 2 5[ c= [19 -5 10
1 -1 1 2 0 3 11 -3 0

Verify that A (B+C) = AB + AC

6.  Find the area bounded by the curve y=x*+x+2, x-axis and the ordinates at x=1, x=2.
7. What are the methods of integration?



L . S5xd=20
I Write answers on any FIVE questions ( ,

. Find the area enclosed between the two parabolas y* =dax and x’=day.
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Integrate w.r.tx: 1) cos7 cos3x i) sin6x. sindx
4. The angle of elevation of a cloud from a pt "h’ mts above the lake is & and the angle of
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depression of its reflection in the lake is w

sin(f —a) __
5. Prove the following: ) sin’3 6=3sin@ - 4sin’ g i) cos2A=cos? A - sin? A
e 2tan 4 . 3tan A - tan® 4
1) tan2A = v) tan 3A =
)t 1-tan® 4 1-3tan?g

' - Y ... logtan 5x .,./-“ )
|6 Find‘%,whenyisequalto (i)sec.l(tan2x) u)'gT. i) vx% -1 .cosec™lx

A

. Write four important properties of matrices.

IV Write essay on any ONE ’ (1x 10=10)
1. 1) Solve by Cramer’s rule 3x + 2y + 52=32-
- 2% + 5y +32=3]

5% + 3y +22=32

. xX+2 x+6 x-]
i1) Solveforx:[x+6 x-1 x+7 =0
‘ x-1 x+2 x+6

i)  Prove that : q <(x-p) (x-q) (x+p+q)
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£ a) Find the maximum and minimum values of the functlon 415 +12x+7

b) Prove that i) [ f(x) dx= J'f(a x) dx i) ff(r) dx—J'f(r) dx + [f(2a x) dy -

c) If A=30°, prove that i) cos 3A =4cos *A - 3cosA

2tan 4 ey s .3
is =———— 1) sin3A=3sinA -4sin’A
i) tan2 A el d



